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1.  Introduction

In current TS25.105, the ACLR2 of 1.28Mcps TDD Base Station is 50dB. This document investigates the impact of BS ACLR2 value on interference scenairos, and finds this impact  is really negligible, the ACS of UE dominates the scenarios.
So it is proposed to change the requirement of ACLR2 to a less critical value from the point of implementation. 

2.  ACIR 

Scenario: one BS interferer an 1st adjacent channel, one BS interferer on 2nd adjacent channel, UE victim. UE ACS1 is taken from TS25.102. ACS2 is derived from the blocking specification.

Assumed values:

BS
ACLR1=40 dB

ACLR2= variable, see Table

UE
ACS1= 33 dB
 
ACS2=43 dB
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Table 1 ACIR calculation results

ACLR1
ACLR2
ACIR
ACIR *

40
55
31.94
34.21

40
50
31.80
34.13

40
45
31.66
33.89

* considering 3 dB improvement in UE ACS1 and UE ACS2.

In this scenario changes in ACLR2 have a negligible impact on ACIR even if further improvements on UE ACS1 and UE ACS2 of 3 dB apply.

3.  Proposal

It is proposed to change ACLR2 to 45 dB. The corresponding CR is Tdoc R4-020221 for TS 25.105 and R4-020224 for TS25.142 respectively.
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